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Part-I 3-Tier
BUSINESS MATHEMATICS & STATISTICS
PAPER—G2
(Elective General)
Full Marks : 100
Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Mustrate the ansiwers wherever necessary. .

Group A
{ Mathematics )
[ Marks : 45 |

1. Answer any five questions :

{a) Prove that (xa)bfc. (xb)c_a. (xc)a_b 2 1y
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{b) If the first term of an A.P is 4 and its common

difference is 3, find the ninth term.
(¢) Insert 3 Geometric means between 3 and 48.

(d) Find the value of n, if rlp2 = 44,
{e) Prove that logylog,log,16 =1,

(f) If the roots of the equation x2 + PX + g = 0 are twice

of the other, then prove that 2p? = 9q.

(g) Find the number of the terms in the following G.P.

-

2, 6, 18 weun_ .. 486

(h) What is the present value of Rs. 500, deposited 5
years back at 4% p.a, compound interest payable on

guarterly basis.

2. Answer any four of the following questions : 4x%x5

{a) If a2 + b? = liab, then show that

log {%(a - b)} = %(loga +loghb)
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(b}

(c)

(d)

(f)

(g)

(h)

Ifa, b, carein G.Pand x, y, z are in A.P. then show

that (v — z)loga + (z — x)logb + {x — y)logec = 0.

What sum should be inverted every year at 5% p-a.
compound interest for 20 years to replace plant and
machinery, which is expected to cost then 25% more

over its present cost of Rs. 60000 ?

(a2 b, carein G.P and a* = bY = c%

1 1

2
then show that —+t- = .
X 2 ¥

If « and 8 are the rest of the equation

2%2 — 3x + 4 = 0, find the value of at + gt

From 12 books in how many ways can selection of
5 be made, when one specific book is always

included ?
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3. Answer any one guestion : 1x15

{a) (i)

(i)

(i)

(b) (i)

(i)

(i)

A person pays Rs. 975 in monthly instalments,*
each being less than the earlier by Rs. 5. The
amount of first instalment is Rs. 100. In what

time will the entire amount be paid ?

How many 5 digits number can be formed of the

digits 0, 1, 2, 3, 4 each being used only once.

Show that

16 25 81
16 logg+12 Ioggw»? 10g§6+10g2=1.

-

5+5+5

If «, B be the roots of 2x* — 6x + 3 = O, form

1
the equation whose roots a+E and B+_1..

o4

I35 is the arithmetic mean and 4 is the geometric

mean of two numbers, find the numbers.

Calculate the C.I, the interest being compounded
half-yearly, on Rs. 6,000 for 3 years at 6% p.a.
5+5+5
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Group B
{ Statistics )
[ Marks : 45 ]
4, Answer any five questions : © BX2
(a) Find the G.M. of 6, 24, 12.
(b) Find the median of the numbers 3, 9, 7, 4, 8, 6.
() If n = 10, Sx = 120, Tx2 = 1690, find the S.D.

(d) Find the coefficient of variation, when mean =
168 c.m. and S.D = 2 ¢c.m.

(e} r = 0.4, covixy) = 10 and o, = 5,.find the value of oy
(i Find the regression equation of X on Y from the

following values X=6,y =8, by =06,

{g) If Laspeyres’ and Paasche’s pricc index numbers are
125.6 and 154.3 respectively, find Fisher’s ideal index

number.

{hy A M = 24.6 and the Mode = 26.1. Find the alue of

median.
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5. Answer anv four questions : 4x5

(a} Find the Median of the following distribution :
Weight (kg.) 60-62 63-65 66-68 69-71 72.74

Men 5 10 15 7 3

(b) Draw a pie chart from the following data :

items Rs. {crore)

Customs 160

Excise 500 -
Income Tax 330

Corporation Tax 110

Other sources 100

{c) Describe the characteristics of a good questioniare.

{d) Find the Mean deviation about Median from the

following numbers

13, 84, 68, 24, 96, 139, 84, 27.
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~1

{e) Calculate the Fisher’s Price index number from the

following data :

Commodity 2014 2015
Price Quantity Price Quantity
(Rs.) (Kg.) (Rs.) (Kg-)
A 5 50 4 48
8 a8 .7 49
C 6 18 5 20

(fj Prove that r lies between +1 and -1.

(g) Find the first, second and third moments about the

origin 4 for the set of numbers 2, 4, 6, 8.

(h) The two requession equations are 3x + 2y = 26 and

6x + y = 31, find X, ¥ and r.

6. Answer any one question : 1531

(a) (i) Find the mode of the Iollowing frequency

distribution :
Marks 0-10 10-20 20-30 37-40

No. of Students 3 5 0 G
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(i}

{iii)

(b} (i}

(1)

{iti)

C/17/B.Com.

Prove that the algebric sum of deviations of n
>

observations from their A.M. is zero.

Calculate the value of the correlation from the

following data, applying Spearmans’ method.

80 72 51 76 50 67
Y : 32 63 67 40 52 50

The mean of 10 observations is 20. On checking
it was found that two observations were wrongly
copied as 15 and 17, while the correct—-
observations were 18 and 19 respectively. Find

the correct value of mean.

Find the coefficient of correlation from the

following data :

X 1 2 3 4 5
¥ 5 6 3 11 8 12

What do you mean by a measure of dispersion ?

What are the different measures of dispersion ?
5+5+5

{ Internal assessment — 10 marks |
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@\ (F-ETA R AT Twd W o o
(F) farwg sffdwn folew ane sy 9ifee =2 2
a5 (f.e) 60-62 63-65 66-68 69-71 72-74

(A 5 10 15 7 3
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faey BrE (7 175w)
L 160
SISt 500
qEST 330
AT =9 110
I 100

(o) <t TFT e T 9w =

(@) Fffe afefm saum wmscs 0w e afee o ¢ i

13, 84, 68, 24, 96, 139, 84, 27.
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() [TW ewe FMSY 20O Fisher-9d FFF AR 7 Ao
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A 2014 2015
7 fferstey Wi Afgae
(TR (coiE) Gl ((G)

A 5 50 4 48
B 8 48 7 49
C 6 18 5 20

(5) (wANg (9, r-4F WA W +1 @F% —1-GF TH LT

(2) 99w, Eo 9ag $OF SIS FIE-9F ACATS fada 59 2, 4,
6, 8 Fale (W)

(@) 3x + 2y = 26 &R 6x + y = 31 6 AN (WS X, ¥

G2 r-&F WA N T390

) (@F-(IA g 4T TeT WS 3 vx3@

() (7)) e o fAeres e Mesd T 3% 79 ¢
eel T & 0-10 10-20 20-30 30-40

TR 2 3 5 10 6
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